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QUESTION 1
Which of the following statements are true?

A. The application of the Rules Centralization pattern centralizes the governance of business rules so that they can be
modified and evolved from a single location.

B. The application of the Rules Centralization pattern reduces redundancy by centralizing common business rules-
related logic that would normally be distributed across multiple services.

C. The application of the Rules Centralization pattern results in centralized business rules that can be applied at
runtime.

D. The application of the Rules Centralization pattern can lead to a decrease in autonomy because it can introduce the
need for an additional service to be part of service compositions.

Correct Answer: A

QUESTION 2

In the message exchange framework established by the application of the Reliable Messaging pattern, what roles are
typically fulfilled by service agents?

A. service agents can process positive acknowledgements

B. service agents can process negative acknowledgements
C. service agents can load balance messages

D. service agents can route messages based on their content

Correct Answer:. AB

QUESTION 3

A service composition architecture with the following requirements needs to be created:
1.

Services will have different periods of availability.

2.

Sometimes the destination of a message cannot be determined until runtime.

3.

All the services do not support the same messaging protocol. Of the following choices, which patterns should be used
to address these requirements?

A. Event-Driven Messaging, Intermediate Routing, Atomic Service Transaction
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B. Protocol Bridging, Compensating Service Transaction, Asynchronous Queuing
C. Intermediate Routing, Data Format Transformation, Asynchronous Queuing
D. Protocol Bridging, Intermediate Routing, Asynchronous Queuing

Correct Answer: D

QUESTION 4
Which of the following statements is true?
A. A compensating service transaction always exists within the scope of an atomic service transaction.

B. The application of the Compensating Service Transaction pattern relies heavily upon an underlying database that
supports the rollback of changes.

C. A compensating service transaction is only used in situations where the rollback of changes across services needs to
be guaranteed.

D. None of these statements are true.

Correct Answer: D

QUESTION 5
Which of the following statements is true?

A. The Legacy Wrapper pattern should not be applied in conjunction with the Process Centralization pattern because
legacy systems do not possess enough autonomy to be effectively composed.

B. The Messaging Metadata pattern can be applied to supplement messages with metadata that can be used for
tracking purposes when also applying the Reliable Messaging pattern.

C. The Protocol Bridging pattern is often used with the Legacy Wrapper pattern as a means of performing data model
transformation between service inventory-wide data models created through the application of the Schema
Centralization pattern and the underlying proprietary legacy format.

D. All of these statements are true.

Correct Answer: B
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